N = 0l & At & Ml A

2018 =0l & St ALESE 3 A X

2 M &ot

M 8N 222 HotxE HEIHA
€@l St=HMelAle 2S5 (ot AlY SE3H)(St=ZASSESA) (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Aot AP A 1,030,098 1,036,607 A 6,509
= 42,000
[Ea 988,098
SEFQ 222 Mot =EMA 1,030,098 1,036,607 A 6,509
= 42,000
[a 988,098
St=XelAld &S (ot=ZAlY SEaH)(St=EAMEE 988,098 994,607 A 6,509
=3 )
oSt=XelAld |XlI2el 913,998 921,407 AT,409
101 @124 H] 34,182 22,182 12,000
04 JIZtNZ22XSE+ 34,182 22,182 12,000
OJIZtMzZ22X 2+ 22,182
—Jl=2 51,7603 250 12,940
—&03 12,940,000& *4/12 4,314
— 7859 51,7603 52 2,692
— X 51,760 202 1,036
— S E %It 600,000& *22 1,200
O338ot+xcld =& 2AFRY 12,000
~HelY ¥ BEE F¥ FH 2 MEEY
,000,000%3%] 12,000
201 fEt2E | 418,376 301,785 116,591
01 At 22l Hl 184,376 106,785 77,591
O33ct=HMalAlE =Z A At 179,876
—Xelgg 50m /g ot
193,000 2000 A +13& 50,180
— Xelgg 50m /e 0l4 ~ 500m /e O] g
193,000& * 120 A 565 129,696
O=Sot+HelANE FA2A U5 2L 2,500
- &5 7Y 150,000%5Q! 23] 1,500
—etdg 7Y 100,000%5Q! 23| 1,000
OSSotsHelAd 28257 §2F2 S 2,000
02 524t 234,000 195,000 39,000
O33ot=xelAe & B2F 206,000
—S3ot=HMelAld dIIes & JIE 206,000
OELY SN d83dz 28,000
206 T2 HI 90,000 90,000 0
01 M= Hl 90,000 90,000 0
OF Xl 2el X = 90,000
—33ot=HMelAlE HMH2E 40,000
-3z 7Y 50,000
401 AIEBI L 2 CHEI 371,440 505,440 A134,000
01 A€ dl 370,000 504,000 A 134,000
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2N Aol AIE A
u: 58X H2 M54T LENA
SR SlEXElAlE SE(SI=EAMY EYalH) (SIS AMTELESIAH) (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OMelAld, Bz =4 2 SNBSS 200,000
— 220 H2AE =& 100,000
220t HelAlE SAESx 50,000
—EHOTXE L S22 H A 50,000
OZ25t+=XHMelAl&(0tsSat45) JI=& |
25,000,000 x2 04 &~ 50,000
OZ225t4=XH™elAl& (ot=2tH) Il =& CHy| 50,000
OB30t+=HMHelAlE FAZLIHE AlA"EIZ2SF 70,000
03 Al 201 Y| 1,440 1,440 0
OMelAlse, Bz =4 o SAES
200,000, 000& *0.72% 1,440
ol Al Eit2tel 12,100 11,200 900
201 et 9| 12,100 11,200 900
01 AR 22| 12,100 11,200 900
OBt 4ZA8E HEO0IH DX A
100,000 x568F A« 1 5,600
Ootx=% BN XAM 100, 000& 358 A x 1A 3,500
Oodtx== S=2& DXAM 100,000 308 A 1 3,000
22 e 22 12,000 12,000 0
201 LBt Y| 12,000 12,000 0
02 2=2=24%4| 12,000 12,000 0
oxExze XA (EE2, NsSIHAH, S5
g) 6,000,000 «2CH 12,000
ol=% HH=&H|l &Xl3At 50,000 50,000 0
401 AIEHIZL 2 0HY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
Obilx=4&dl &XlZAt 50,000,000 50,000
SENS(GIEMLSEEA) (GHE AL SEEH) 42,000 42,000 0
= 42,000
o4& SXeel2 s (=T Hal) 42,000 42,000 0
= 42,000
311 X 20| XHak&t 800 800 0
= 800
03 ELHEXL 20| AHAE 800 800 0
OLLLox=ESLHeldE DEXMe A= 0l AF4A
st 800,000 =1 800
= 800
601 X 2| S ast 41,200 41,200 0
= 41,200
B ELHEXNL S ASME 41,200 41,200 0
OLLLox=ESL M DEXE A3 24
st 41,200,000 =1 41,200
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